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SOCIAL SCIENCE

1. Which of these was the first Governor-General of India?

(@) Lord Dalhousie (b)  Warren Hastings
(c) Lord Wellesley (d) Lord Canni
T W HH AR 9T TER SRS 917 e
(a) o€ Eomerst (b) TR =ifiEn
(c) wiE et (d) e sfm
N c)l( J )97 ¢

Lt (b)

(a)
M}U (d) (c)
2. Who granted the Diwani gal to the British?
(@) MirQasim Murshid Quli Khan
(c) Mi (d) Mughal Emperor
S AR fre wem fwan?
(a) R (b) YRR et @M
(c) ¥R (d) 9T 9&E
Ll U FIT Jgs6 8,
e, o e ()
Lol (@) gz o

Code No. S-09/ SET- C (3)



3. The Champaran Movement was againstthe

(@)  British (b) Indigo planters

(¢) Landlords (d) Revenue Officials

YR A % faers o

(a) fafem (b) & & fwdEm

(c) “HMRR (d) o sifyard
SLoel

LUG'{ b( J: (b)
r&zj{/ (d)
4, Who practiced Jhum cultivation?

(a) Villagers Urban Pec

Triba

(b)

(c) Forest dwellers

A Bl R H 9?2

(a) Mg

N A

(¢) gAarE! anfeardt

C& 2z S .:}K"r "
JISF () I (@
§6 @ Lz tf (0
5. Where was Bahadur Shah Zafar exiled to?
(@) New Delhi (b) Kanpur
(c) Rangoon (d) Nepal
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R W8 B ! Fel faifea foa man on?

(a) T feedt (b) AR
() T (d)
?ﬁbf‘f’ﬂeu%/ﬁotﬁ»g«.
26 (®) 56 @
Jg @ o ©

Which educational dispatch was sent to Governor-General of Indi 8547

(@) Wood's Dispatch (b) Macaulay's Dispatc
(c) Mill's Dispatch (d) Jone's Disp
1854 B 9RA & TG SRe 1 hiA9 Ve (D T

(a) s fedlm (b) T
(c) ta fed= S

sl L s 1854
Geih (a)
g ©

ion was founded by Raja Ram Mohan Roy?

Which re
(@) AryaSamaj (b) Brahmo Samaj

(c) Satyashodhak Samaj (d) Prarthna Samaj

o0 9 e U9 3 R QUR §9 # TIe S6 e

(a) 3/ ga= (b) & HHN
(¢) HAMY® AN (d) Wi |ust
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?JJ/)?JK,JW[‘/LU&}’(U,?U

ez (b) bzt )

ety (d) thetorr & (o)

8.  Who is known as the Father of the Indian Constitution?

(@) Dr.Ambedkar (b)  Pt.Jawahar Lal Nehru

(c) Dr.RajendraPrasad  (d) K.M.Munshi
YR WU & fua & w9 § feQ S o 27
(a) Elo T=EH (b) dfed Fam@T
(c) Tlo TW= YO (d) o THoH
AL T 941
S 25 (a)
sbegik2 15 (o)

9. What was the reas the evil practices of untouchability?
(a) )" Toend the discrimination
(© (d) ~ None of these
EEIET 9 R SR o1
(a) & fer
(b) ¥RWE FH & fog
(¢) 3T=9 <fd &l TG HA & fag
(d) W @ hrE Tl

?u;ggﬂf.}léééwa./,[_q;{l
iﬁ;/?’;ﬁf)’d/?l (b) iégffyfcf/ (a)
S et @ 2L Pl ©
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10. Present strength of Rajya Sabha is:

(a) 243 members (b) 545 members

(c) 245 members (d) 543 members

T 9 H aduE § 1w @

(a) 243 WA (b) 545 9=

(c) 245 G<H (d) 543 9=

€ sl udos 25 Slo 2l

o545 (b) I £243  (a)
U543 (d)

11.  Who s the final interpreter of our Constitution?

(@). Judiciary
(c) Executive (d)
TR Hfaur #1 f saerER B 22

(a) LG §
?ﬁ:_d/ut?.;fgu:/‘i'é_/h

(c) eI
)]

s (d) LL ()

12.  Stereotyping of Adivasis is related to their being:

Governm

(@) Exotic (b)  Primitive
()  Backward (d) Al of the above
afeardt & SifEeEf T ®0 R 9 g €7
(a) facui/ersmn (b) WM

(c) fm= (d) 3 ¥ 9t
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IL:.):?JZ:U’JW(@”J’;g’z—‘ﬁuzf'{’)"'

£S5 (b) CNCY
fawu! (d) sl (o)
13. Which is the Article of Constitution that states the untouchability has been
abolished?
(@) Article 16 (b)  Article 17
()  Article 28 (d) Article 18
vﬁm%mﬂﬁaﬁmwé%q‘mﬁmw
(a) =T 16 (b) %% 17
(c) 3= 28 (¢) =7 18

Sl
16\}:’.1" (a)

8 T (c)

14, Who carries the respo

()

(©) (d) None of these

arm &l FE &1 o frast e @
(a) (b) @

(¢) (d) ¥ & &1 8

e S bai§ S 1 pear Sie
A (b) =F (a)
Ao @ A E©
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15.

Parliament amended the Child Labour (Prohibition and Regulation) Act, 1986,
banning the employment of children below the age of 14 years in all occupation in:

(@) 2001 (b) 2010

(c) 2014 (d) 2016
93 4 a9 9w (fy wg fafaea) sfufem, 1986 § goes fen o
H ueft el A 14 9d @ F0 g $ w4 @ FrEeE W) yfaEy o e

(a) 2001 (b) 2010

(c) 2014 (d) 2016

Al 1aut Ui e nl S 5021986 K1 (o 45 UL 24

16.

-d:tﬁd,‘:':g/?.:/)ud/ usLl
2010 (B) 2001 (a)

2016 (d) 2014  (c)

Resources drawn from nature andwused without much modification are called
(a) Human maderesources (b). Natural resources

() Human resources (d) Renewable resources

vefa QM g frp e daiv % SwEm frr IR 9 gae weem E
(a) wHa fFHq FaeA (b) rpfas HarEA

(c) WFa |qEEA (d) elroita |ETeA
i J/V)Ll)d._ﬁd(a:’lér: 76/ Aot P o b
Sdis () St lou ()
Sl J6 (@ Judu ©
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17.  The uneven distribution of population in different parts of the world is mainly due

to varied characteristics of:

(a) Landand climate (b) Climate

(c) Vegetation (d) Settlement

fava & faf= amil & 9w #1 srgum foqm geg €9 4

faetvaret & wro 2

(a) 4 3R Semrg (b) e

(c¢) = =fq (d) HrE I8
-C‘-G)’JQE"‘?J;J /“u}’d).l{(‘:ﬁ(j’(/‘/d/

Lm*fl’ (b)

SATAU Q)

18. What is cultivation of grapes called?

(@) Sericulture
(e) Viticulture
3R ® Tt H
()
(c) Viti e (d)  Horticulture

Pisc e

Horticulture

Sericultur Pisciculture

Ale @ &
19.  Which of the following is a secondary activity?
(@) coal mining (b) fishing

(c)  agriculture (d)  paper manufacturing

Code No. S-09/ SET-C BT
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frefafed § @ s fidoe wfafafy 272
(a) IS T (b) HSE UhHs
(¢) =fy (d) TS IARA

<

\PRIY PRI IO Ry s P

SA () ULy ()
AR C) =15 (¢)

20. The movement of people in and out of an area is called?

(@) migration (b) death rate

(c) Dbirthrate (d) gro
fordt &9 & 1T 3R T @ &l

(a) wa9 (b) HY
(¢) SR

St 7 P SulIt iy’
(b) e @
(d) Pl ©

ENGLISH

Read the passage carefully and answer the questions that follow:

The Ancient Egyptians pyramids are some of the most impressive structures built by
humans in ancient times. The pyramids were built as burial places and monuments

to the Pharaohs. As part of their religion, the Egyptians believed that the Pharaoh

Code No. 5-09/ SET- C (11)




needed certain things to succeed in the afterlife. Deep inside the pyramid the
Pharaoh would be buried with all sorts of items and treasure that he may need to

survive in the afterlife.

There are around 138 Egyptian pyramids. Some of them are huge. The largest is the
Pyramid of Khufu, also called the Great Pyramid of Giza. When it was first built it
was over 480 feet tall! It was the tallest man-made structure for over 3800 years
and is one of the Seven Wonders of the World. It's estimated that this pyramid was

made from 2.3 million blocks of rock weighing 5.9 million tons.

Deep inside the pyramids lays the Pharaoh's burial chamber which weuld be filled
with treasure and items for the Pharaoh to use in the.afterlife. The walls were often
covered with carvings and paintings. Near thesPharaoh's chamber would be other
rooms where family members and servants were buried. There were often small

rooms that acted as temples and larger rooms for storage. Narrow passageways led

to outside.

Sometimes fake burial chambers or‘passages would be used to try and trick grave
robbers. Because there was such valuable treasure buried within the pyramid, grave
robbers would try to break in and steal the treasure. Despite the Egyptian's efforts,
nearly all'of the pyramids#were robbed of their treasures by 1000 B.C.

Question:
Choose the right answer from the given alternatives:
21. What was the main purpose of the Ancient Egyptian pyramids?

(a) As monuments to the glory of Egypt

(b) Astemples to their Gods
(c)  Asmeeting places for the leaders of the country
(d)  As burial sites for the Pharaohs

Code No. S-09/ SET- C ’ (12) . .




22. Whatis the largest pyramid built by the Egyptians?

(@) The Pyramid of Djoser

(b)  The Pyramid of Khafre

(c) The Great Pyramid of Giza
(d) The Red Pyramid of Snofru

23.  Why did many of the pyramids have fake passages and traps?

(@) Tokeep evil spirits from haunting the Pharaoh
(b)  Tokeep grave robbers from stealing the treasure
(c) Toattract the visitors

(d) None of the above

24.  The synonym of the word 'impressive' is:

(@) Splendid (b) Moderate
(c) Majesty (d)

Amaz
25.  Give the antonym of 'modern’.

(@) New (b)  Ancient
(c) Impressive Fak

Choose the correct word and Fi

26.  Mrs. Sarla is a rich not happy.

(@) and SO
(c) bu (d) though
27. The sch not ring the principal arrives.
(@) unti (b) though
() as (d) that

Fill in the blanks with the proper tense or form of the verb given in brackets:

28.  Seema and her family __ here since January 1999. (live)
(@) isliving (b)  have been living
(¢) areliving (d) hasbeer living

e e e e e s et e et
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29.  When I visited him in Kolkata, he there for six years. (teach)

(@) teaches (b)  has been teaching
(¢)  had been teaching (d) isteaching
30. 1 a letter to her yesterday. (send)
(a) hadsent (b)  have sent
(c) wassenting (d) sent

Fill in the blanks choosing suitable modals.

3. You___ notgo to Shimla, the meeting is cancelled.

(@) can (b) will

(c) need (d) may
32. Ajudge_______ bejust.

(@ can (b) shou

(c) could (d) mu

Rewrite the following sentences into passive voice. Ch e right answer from the given

alternatives.

33.  Who has broken the

(@) Bywhom e been broken?

(b) e window pane?
(©) broken by the window pane?
(d) Byw been broken the window pane?

34. Someone has stolen my purse.
(a) “-My purse is stolen.
(b) My purse has been stolen.
(c) My purse has been stolen by someone.

(d) My purse is being stolen.
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Change the following into indirect speech. Choose the correct alternative,

35. Siyasaid to Maheen, "I am studying for my exam."
(a) Siyasaid to Maheen that she is studying for her exam.
(b)  Siya told Maheen that I am studying for my exam.
(c)  Siyatold Maheen that she was studying for her exam.
(d) Siyasaid to Maheen that she was studying for her exam.
36. Hesaid to me, "Where are you going now?"
(a) Heasked me where | was going then.
(b) Heasked me where | was going.
(c)  Heasked me where [ am going then.
(d) Hesaid to me where I was going now.
37.  The teacher said, "Honesty is the best policy."
(@)  The teacher said honesty is the best
(b)  The teacher said that honesty is the best.po
(c) The teacher says th s the best policy
(d) The teacher sai s the best policy
Choose the correct prepo e given alternatives.
38. Hefell
(b) from (b) at
() off (d) of
39.

Code No. S-09/ SET-C

What did you shout him for?

(@ on (b) off

(c) after (d) at




40.

41.

42.

43.

44,

45.

, , e of sentence.
Wow! I am glad to hear that news.' Identify the correct typ

(a) imperative sentence

(b) interrogative sentence

(c)  assertive sentence

(d)  exclamatory sentence

Select the correct word to complete the sentence with it.
[ can’t answer this question, It's

(@) Impossible

(b) notpossible

(¢)  Unpossible

(d) Dis possible

[ think English is one of most importan ' need to study.
(@ a (b) an

(c) The (d) any

They waited about ounat the bus stop.
(@) an here
(c) the

where

Which o is a homophone for "mail"?
(a) mayl (b) meal

(c) male (d) all of the above
The homonym of the word 'meat’ is

(@) plead (b) meet

(c) eat (d) repeat
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MATHS

46. For any natural number n greater than 1, which of the following triplets is

Pythagorean?

Q) (n,nz—l.n3+l) (b) (Zn,nz.n:+l)

© (2n,n2 -1,n +1) 0 (n, n +1, nz)

I 8 9 ol wpfae Wem n®  fou frefafed § @ sE-w feee gmemieR
22

@) (n,nz—l,n2+l) (b) (2n,n2,n2+l)

(o) (2n,n2—1,n2+1) (d) (n, nw+ln

e sy TR =50

(2n,n2, : ) (n,nz—l,n2+l) (a)

(d) (2n,n3—l,n3+l) ©

47. The diagonals of a F

(b) fewfsm #xd &
(c) W7V W fymisa w2
(d) faulia =0 & g @ €
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Syudn e

Sl rnds (a)

i S S ndl ()
iz J..".;/...jr"g’ud/ ekl (o)

LSSl (d)

48. How many natural numbers lie between the square of ecutive natural

numbers?
(@) n “tb) 2n
(¢ 2n+1 (d) n?

3 AR Wipfas qemst & o & =

(@ n 2n

(¢) 2n+1
Natural ) / 8//5 & O]’

nz

(Natural Numbers) s / 81,3 715 s

et s (Numbers
2n  (b) n )
n (d) m+1 (o)

49.  Which property is used in the equation given below?
12(x+4)=12x + 48

“(a), Associative Property of Addition

(b) Commutative Property of Addition
(c) Distributive Property
(d) Reflexive Property
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e fRu U wew F faw o @ waEn e e 22
12 (x+4)=12x + 48
(a) Fﬁga}'ﬂmﬂm

(b) < % fafadm 1o
(c) faator = 7o
2/, (@) wafad o

?‘Léndbﬂ'ﬂlwdu:fuﬁabusf S

(Associative property

(Commutative property of h)&:fi &

L

(Distri Pmperty)wﬁcfry (c)

eflexive Property) e 1 A2 (d)

mbers. Their greatest common factor is 6. Their least
e of the numbers is 12. Find the other number.

(b) 16

(d) 24
q’ma}a@mﬁ%aﬁﬁmm%lmwme%lmm
T 36 71 I @ wF wew 12 ¥ ged sen wa sk
(a) 18 (b) 16

© 6 d) 24
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Ll Sus A - 36 LCMusl <6 HCFKun_é_p@ruﬁé—ALU’/”w’”
?4,5.//!/»-4.12
8 g of ‘
Qg = 3 =W =3 18 (a)
ury =0 %'%)6
H:%B X'6§y24 (d)

51. If3* =81 and 81" =3¢, then find the values of x and y respectively.

6 (c)

@ 3.1 ‘
(© -1,3 sl

afy 3 =81 uq 81" =3" § ;ﬁm xTd y @t

@ 3,1

(© -13

Jw
3,1 (a)
-3 (d) -1,3 (o)

52. Ifxand rtion, then which of the following is correct?

@ (x+ (b).  (x-y)isconstant
(c) xyis constant (d) y is constant
(a) (x+y) SR (b) (x-y) 3R 2

X
(¢) xy3=R 2 (d) 7V 3R R

Mxes P9 81 =3° 3™ =81 /]
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?9&/‘“/(‘)}(4:— J:J_.A;Zy/);gj]u:?/w:/l/ai/.y/,lxﬁ

-q..dlg Ax-y) (b) -‘gdiy Alx+ y) (a)
e Ja e % (d) -« (constant) J&+ Fxy (c)

53.  Express the following in the standard form 0.000000021.

(@) 2.1x107° “(b) 2.1x10°*

(o 21x10° (d) 2.1x10°
0.000000021 1 HH® &Y 2

(@ 2.1x107 (b) 21

(© 21x10° d 2Ix10°

- FA50.000000021

o' (b) 21x10° ()

Ax10° (4) 2.1x10°  (¢)

54. airs of identical faces.
(b) 3
d 5
Y9 HaE B ¢
(@) 2 (b) 3
(© 4 @ 5
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5 (d) > L.]Z) 4 {c)

55.  Factorization of x’ - x would be.

@) x(ix—xz)
) x[(l+x)(1—x)]
" (©) x(xz—x) el

) x[(x+1)(x—l)]
X' =X 1 OREVE BT

@ x(x—xz)
() x[(l+x)(]—x)]
© x(.xz—x)
) x[(x+1)(x—

-€ wfactorization¥'x’ - x
x(x-x%) )

x[(l+x)(1-x)] (b)
) &
x[(x+l)(x—1)] d)
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56. | Two identical cubes each of volume 64 cm? are joined together end to end. What is

the surface area of the resulting cuboid?

(@) 160 cm? ! .
‘ N
(b) 640 cm? o ('3@7\1 (
(c) 320cm? K e  DIIXMW
4 BT o
5 |
(d) 128cm? ) LZ é?ﬁ;

Mcmsmaﬁﬁwmwfﬂi@fﬂi%ﬂé
TS ST F B

T

(@) 160 cm?
(b) 640 cm?
(c) 320 cm?
(d) 128 cm?

Lf,‘}'/(i/‘f.f’(’ _ Jﬁ/&éjcéjugfq(ubg»LbZM cm’

e

‘
160 cm?z  (a)

640cmz  (b)

320cm”  (¢)

128cm”  (d)
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. ; . atio of thej
57.  The ratio of the radii of two right circular cylinders is 1 : 2 and the r eir

heights is 4 : 1. The ratio of their volume is ?

@ 1:1 24 x27/ (b) 1:2
- "
© 2:1 2 @ 4:1 /}262

N TR Ao F s w amew | ;2 f
39 AT H IIE 7

.
(@ 1:1 b 1:2 3
(0 2:1 d 4:1
Kﬁ£u4;¢4; L EK U Sl e 1 2 2K J5
| Ut = oty 9
UX 1\"5 5 U = u@w
Ny = GUT + Yy Ty -
{2_\46 X\%‘f"l Q’h o
Q,Lg . G)V\d 2311 (e

58. The area of a rectangle is gi "y+4y’x and the width of the rectangle is given

by 2xy. Find the peri

@ AN

® g (2u" +ogw)

@ Qv\ﬂg W

TH AT 6x’y+4y’x T WK 21y ¥ A 3@ W whem gy
@ 6+ 8y + 2 Q\)\a k‘?ﬁ* (25

(b) 3x+2y+2xy QL{% s 4ﬁ1«

(©) 8x+6y+4xy 5

(d) 6x + 4y + 4xy
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‘.‘J s(Perimeter) k}J [P, I9e 2xy L;’J')?,.J" 6x’y+4y'x J K oL

16 (b)

-8 (d)

60.  If we throw a coin, the sample space will be:

@ ) ® 7
(9 ) @ T

6x+8y+2xy
3x+2y+2xy

8x+6y+4xy

6x+4y+4xy

()
(b)

(c)
(d)

Code No. S-09/ SET- C (25)



afc o g 3omen s @ Sample Space &I

@ A w T
© (n7 @
¢ s%Sample Space?yfuujl/ﬁv{!
SN (A} @)

7 (d)

{H.T) (o)
61.  Arational number can be expressed as a terminating decimal, if i ominator has
factors.
(@ 2or3 (b) 3or5
(c) 2or5 (d) 2or3or5

W 1 den ® th wea qemes @ d 3 W H
aow ¥ H i\) =u-S
PAu P | gl U-g

(a) 233 qs

- &5
-2 +<
43y T 23710
35 il

L_t

(¢) 235

/,'lg/?/)"ﬁdjli‘lLbd'_/?';J()ﬁJbtugl

4y

UneS 5t3 (b) 312 ()
- sz (@ 2 (©
62.

A father is 4 times as old as his sgn. 5 years ago, he was 7 times as old as his son was.
The present age of the son is

(@) 15years (b) 10 years

(c) 12years (d) 20years
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63.

64.

@mﬁmmgaﬁa@aﬁwﬁémaﬁmmaﬂyﬁm
7 T o T F A g N e?

(a) 15 = (b) 10

(¢) 12 =d (d) 20 a9

?‘Ly’/wzrJ‘;,iwb’/w’7:,é;_‘%u,2;;&vs-§.f/gc_/ d/é./d/,db

Juio (b) Juis ()
Je20 (@) |

Which of the following is a regular quadrilateral?

(@) Square Kite

(c) Trapezium (d) Rcctan

frafafad § @ s faf (Regular) @S

(a) = ( i

(¢) 9Had

. I/%sﬁﬂb‘c)fc,u:u:hyﬂ

(b) ¢, (@
J”’ (@) S ©
In histogra tion, the height of bars represents the of the class-
interval.
() class size (b) class mark
(c) frequency (d) Mean
fewdmm H, oFd w1 SO o Sfavel bkl oFEd Hl ol
(a) o 3MFR (Classsize) (b) @ fa= (Class Mark)
(¢) <& (d) H=
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65.

66.

et S ENT AN alvv g

7513 JATE () Ly (a)
= bt (d) (frequency)sis?  (c)

If the number 75623 is a multiple of 3, then the possible values of b will be?

@

;‘"%kiggﬁ &, S Sbic ultlple)JWK3:7b23/.'}/l

@ 0,3

(c) 4,6

ﬂﬁ:mnzmaﬁ@w%aﬁbmqm

@ 0,3

9
u 7(_&9 & ;), 3 (a)
LoD 15 :
5’ 9 (d) ho 4,6 (c)
6

If80% then the value of X is:

(a) 180 (b) 272 km

(c) 425km (d) 500km

Ife x & 80% 340 km & q x & WA BM-

(@) 180km (b) 272 km

(c) 425km (d) 500km
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e B QGOQ -Jnc.-gd/x;c‘_xw‘.{. 806340 km./|
) 272km  (b) 180 km (a)

500km (d) 425km (¢)

67. The marked price of an article is Rs. 100 and it is sold at Rs. 76, then the discount

rate is
@ 20% (b) 24%
(©) 17.6% (d) 22%

TF o & Afehd ged 100 T T 3R W 76
() 20% (b)  24%

© 17.6%
PR

22%

23,7613 c‘_:;uloo.:,&fg/, Akl

X

(b) 20%  (a)
224 (d) 17.6%  (c)
68. Forwh pressions (5x-6) and (2x+3) will become equal
@ o0 (b) 2
© -3 @ 3

x & g oM @ fog wiww (076) o (26+3) qam 1 <

@ o0 (b) 2
(c) -3 d) 3
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69.

70.

v
/

9,
/;)89 L‘ \\/ -LI?/J/:(Z'Y”)»' (SX—())Q—L:"{JJX
h \
P
0 (a)
/\@? 2 (b)
% {0y 3 (d) 3 ()

If the cost price of 12 shirts is equal to the selling price of 10 shirts, then the profit
percentage is

(@) 50% (b)  20%
(© 10% (d) 80%
AR 12 FS F T T 10w F fawa g
(@) 50% (b)
() 10% (d)
e Vad$Cuic 10edss§ A 12/

507 (a)

102 (¢)
Find the

a regular polygon whose each exterior angle has a
measur, |

(@ 4
© 6 d 8

U fraffa sgqs 1 geel w1 e 9@ S fee y@s el s @ Ay
45° B

() 5

(@ 4 (b) 5
© 6 d) 8
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dfMS ijg.g,(::l)&:/gﬁégﬁ{—gﬂﬂb(d')”LCWU'/.?’((Regular)wG'l,vQ

<
5 (b) 4 (a)
8 (d) 6 (c)

71.  Which of the following is a binomial?

(@ 3xy (b) 41+ 5m
() 2x+3y-5 (d) 2y
frafafed & 4 w5 fgug 22

(@) 3xy (b) 41+

() 2x+3y-5 (d) 2y

ieb iallzd[c.u':d)',?/ﬂ
(b 3xy ()
(d)

2x +3y-5 (o)

72.  How can the sta

&

asaneq

(@)

(b) §x=%x+5
2 3

er is 5 more than its 2/3 parts" be expressed
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o fEH WEH #3439 23 i @ 5 afvw 21 F TE GHE B EY [
Y = fF S e

(a) i—x=§x+5

(b) zx=%x+5

3
(©) %x—5=%x
3 -2
d =x-5=-—=
W Gri=g

?9131:!?9"/;15:“_"4/)&@1,»',{::“ '-‘goJLJSLup 2/

(a)
O=b =4
& = 4t (b)
L
ql,yzalo)fb = 3 (c)
(Mb)lfq%wa)
o (@)
'

73. Ifd’*+b’= =4, then the value of ab is:

(@ 20 (b) 19
() 21 (d) 18
A a’+b7=58 WA ag-b=47 ab &I HH BII-
(a) 20 (b) 19
(© 21 (d) 18
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19 (b) 20 (a)

18 (d) 21 (e
74.  Which of the following statements is true when calculating interest compounded

half-yearly while keeping the principal constant?

(@)  Double the given annual rate and half the given number of years.

(b)  Double the given annual rate as well as the given number/of years.
(c) Halfthe given annual rate as well as the given number of years.
(d) Halfthe given annual rate and double the given number of years.

TAvA i fer Ted gu srdafis wv @ waifsd @ s s a Frefated
A | SAE weF T 7

(a) @ T aiffs R F [ R fGU T AN @l Hem w o )
(b) < T afties X & Wy G W a6 @SN H I B
(c) § 7€ arftisr X wd A &1 T&n 1 s )

(d) & 78 anfties gLaR 3 We XU MU aw F Hewn & QA
e e et 2 1A o 52 202, 5 fPrincipal)f s
Ce o
_Ll_pJ.w;lﬂJu)vmf»c/“;uvfd: (a)
LIS Suemnr fa S )
L bSETEN TS U ST S (©
ST IS U T oS (@
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75.  If a bus travels 160 km in 4 hours and a train travels 320 km in 5 hours at uniform

speeds, then the ratio of the distance traveled by them in one hour is
(@ 1:2 (b) 4:5

() 5:8 (d) 8:5
A TH aW 4 W H 160 fro 3k wH A gud M@ ¥ 5 WS H 320 fEHo H
T FW R, D ITH N TH AR H qq W g0 F FHIE

@ 1:2 (b) 4:5

(¢ 5:8 (d) 8:5

= WL LeK320 kmu:&fsqf.{w‘gﬁfé_ut =
..c"_._./f«'{é‘.’iﬁz Z

(b) 1:2 (a)
(d) 5:8 (¢)
NCE

76.  Frictiond

(a) (b)  pressure
(c) (d) drag

59 & HRO U0 FEeAdl ¢-

(a) =@ (b) <=

(c) ol 5 (d) widE
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L (b) =8

O NE) <58

77.  The instrument used to measure atmospheric pressure is

(a) mercury barometer

(b) pressure meter

(c) manometer ‘

(d) all of these

TR T H W B o WG 4 @-

(a) TR R <

(b) WIR HIX
(¢) WA
(d) ¥ @

-‘LJTUuLnJv‘HiLJngsme
S (a)
/< Zq ()
A ()

d'rc_.u:cﬂ (d)

Code No. S-09/ SET- C (35) - N—




78.  Human can hear sound in the range of

(@
(b)
()
(d)

20-2000 Hz
200-2000 Hz
20-20,000 Hz

200-20,000 Hz

wra fww i o wft g e 82

(@) 20-2000 Hz
(b)  200-2000 Hz
() 20-20,000 Hz
(d) 200-20,000 Hz
20-2000 Hz
200-2000 Hz
20-20,000 Hz
200-20,000 Hz
79.  Whicho solution is a good conductor of electricity?
(a) glucose solution
-(b) alcohol solution
(c) vegetable oil
(d) lemon juice

(d)

Code No. $-09/ SET- C (36)




freffafed § ¥ S S faga w1 g 22
(a) TEHIS FI WA

(b) EHEA & HIA

(¢) odfd 9

(d) g = ™

80. The magnitude of an earthquake isiexpressed on a scale called
(@) Seismic scale
(b) Seismograp
(c) Ric le
(d) Se

@Y F dodl hE T W E H S e
(a) wifT® @d

(b) IR
(¢) JwHe @hd
(d) drrerst
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e ol o bl b g kI e BT
)
1 (b)
JEY (@
S (d)

81.  Inaplane mirror angle of incidence is 45°, What will be angl ection?
(@ 90° (b), 45°

() 60° (d) none of
Th THael 40 | 399 &0 45° &1 2

(@) 90° (b)  45°
(©)  60°

5°::U(CLV"JULTJL?3/J ;fToJL/..gI
) 90° (a)

(d) 60°  (¢)

82. Whichs to the earth?
(@), Sun (b) Pole star
(c) Cassiopeia (d)  Orion
Y AW g § Wy free 22
(a) @ (b) ¥a dm
(c) wfgaian (d) sifes
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84.

?‘Lb.{./“écjzjul;lru:(

ou (b) oy (a)
g (d) ke (o)

Which of the following is a thermoplastic?

(@) Bakelite (b) Melamine
(c) PYC (d)  All of the above
frefafad & @ s avfenfes @2

(a) AFARE (b) TemrA
(¢) = (d) =™ 9

: [Luﬁdf?g/ﬂ

=AU (a)

Lfd’(}._ (c)

Anonm the room temperature is

@ br (b) chlorine
(¢) iodine (d) fluorine
T YTy S FW H AHA WA €

(a) sife (b)
(0) (d) g
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‘¢ k4

d/’g (b) d:)/. (a)
g (d) L (©

85.  Full form of LPG is
(a) Light Petroleum Gas
(b) Liquefied Petroleum Gas
(¢)  Liquid Petroleum Gas

(d) LongPetroleum Gas
LPG &1 QUi &Y 2:

(@) Light Petroleum Gas

(b) Liquefied Petroleum G

(c) Liquid Petroleu
(d) LongPetro

-‘LyJIJLPG

Light Petroleum Gas  (a)
Liquefied Petroleum Gas  (b)
Liquid Petroleum Gas  (c)

Long Petroleum Gas  (d)

86. Ina candle, the colour of non-luminous zone is
(@) white (b)  yellow

(), blue (d) black
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(a)
(¢)

87. The most ductile metal is

RS (b) dem
e (d) <hTen

e K boieF s SIS G ey L

bz (b) 4 (a)
vg (d) * (o)

(@) silver (b) gold
(c) copper (d) alumini
&8 7 H1q ®:

(a) = (b) @
(c) il '

-c‘-:,lc:uugugjc._./

(b) $+e  (a)
bt ()

88. Green house gasesincludes

(a)
(b)
©
(d)

CO2, Argon, Nitrous Oxide
CO2, Methane, Chlorine
CO2, Methane, Nitrous Oxide

CO2, Argon, chlorine
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DiES ﬁ'g 'lI3Y o wnfaa %:
(a) COp 3T, AEIH 3HAEE
(b) €O, WA, FANA

(c) COp RYA, AELH RS
(d) €O TH, T

etutuneS
G
()
©

(d)

89. Ignition temperature is the:

(a) temperature at whic tance cat ire.

(b) highest temp

()
(d)

h a substance catches fire.

a substance catches fire.

(a) T8 qOH R & w1 S Fuea )

(b) =daau AgEE S8 W FE T 30 v 2
(¢) —gaw amaH 5| | #1851 3 g ¢
(d) T ¥ =
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90.

91"

-<Ignition temperature

e B ES A Pz on ()

e BAESSS (P e 7 simier ()
-g&.{}o.{uffvtéf/?u’? =7 .yufa-x (¢)
H ety @

is an example of rabi crop.

(a) potato onion s
(c) jute pulses

@ wEA F I 2
(a) ] (b) @SN

(¢) <

e JeS s,
(b) ST Q)
uijb (d) <2 (o)

The bacteri ns milk into curd is:

(@) Rhizobium (b)  Streptococcus
(c) Acetobacter ‘(cQ Lactobacillus
Y H @ § wger arel Siar 2l

(a) wEshferad (b) TWIAHHH
(c) THRNTN (d) wiEEfgead
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A ) R @
S @ PTG

92.  The production of thyroxine requires

(a) sodium (b) iodine
(c) magnesium (d) calcium
AR & IARA § EvaERa B B

(a) wifeam (b) RN
(¢) Wiy (d) e

93. The colour imp und in plant cell is:

(3&~ J

ole “(b)  centrosome
(¢) plastids - (d) mitochondria
Ry HifyeE § Iufed T WEE F A S 2
(a) ffemmard (b) EEm

(c) wfes (d) Wit
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95.

—UJ%TLJ:&“-)-.@UI’L[;LEL}:&Lu»g

¢y (b) Sk ()
Lxd ¥, (d)

it (c)

The killing of animals illegally is referred to as

(@) hunting (b)  assassinating

(c) murder (d) poaching

I T ¥ T R T F ww T L
(a) TR = (b) ®an
() #|HR (d) dmafam

ujlg/,:ub&jl? /.:"

£ (a)

(Murder)J; (c)

The cell formed a

(@) embryo zygote
() eg (d) foetus
8= FHEr 8
(a) (b) JHAA
(c) e (d) 49 (Foetus)
e () (embryo)e  (a)
(foetus)u‘? (d) o % (c)
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96.  Raghav categorized the following household items into acids and bases.

Acids Bases
1. Lemon 4, Baking soda
2, Antacid 5. Vinegar
3 Tea 6. Curd
Which of them are placed under the wrong category.
(@) 3ands (b) 2and6
() 3,4and5 (d) 2,5and6
T+ FreAfafen o T #) ana o R § i
3T &R
1. g 4, ofwn @rEl
2. uafgs 5. fawa

I &
Eﬁﬁmmﬁvﬁﬁwwé?
(a) 3T 5 (b) 2wd

(¢) 3,41Td5 ] 2

J)U':JV'AL...J'/.:'.Jf?')&}djaﬂL}ﬁj

JU 7

4 A

5 A 22

g -6 Z_lg i
‘e VWt piskLl e o

652  (b) 5.3  (a)
6152 (d) 5»143  (c)
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97. The carbohydrate which produces blue-black colour with dilute iodine solution is:

(a) glucose (b)  cane sugar

() cellulose (d) starch

Fralesse S a A & Hie W Aen-wren o Yo @ B
(a) TS (b) T W <

(c) eyt (d) %

_ct'_t‘ﬁ&j/o.l:«lfa’lrccd)‘;%LJ;/TYVJA/Q//K
K J L }( (a)
Gl (d) (c)

98. One of the following liquids is immiscible in wat
(@) Vinegar (b) Gly
(c) Lemon juice (d) Kerosen

e H QT w9 A § Al

I"’Tb'%:

(a) Ta&
(c) foedt 1 e
Lu..a‘)'b/d'b Lu"dtdl..flcu*d’:p/,v‘
kU () S @
L @ oA ©
99.  When the applied force is doubled on an object and the object is still at rest, then
friction becomes:
(a) doubled (b) halved
(¢) quadrupled (d) zero
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(a) g & (b) e g0

(c) =R T & (d) 3= &
-q-élen f/?’gl’.:u.f_»f 7 3,,&9 Ltgndf»a} d"d'—lyéﬁf.,.z‘f( -2
&7 ®) T ()
(@) G ©

100. Which of the following is a mismatched pair?

Endocrine gland Hormone

(@) Ovaries Oestrogen

(b) Testes Testos terone
“(e) Pancreas Calcitoni

(d) Adrenal glands Corticoste
frafafea o ¥ s 9w e 22
TS TiS
(a) 3emE
~(b) N LA

(¢) 3RME
(d) aift FHifdhl LUze

e URabluy e it 5 psur

Ui 2B Sk
O Oy (a)
O gt A ()
gE 5
21 kS wEFL (@
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